RP-U420

LF

FF

CR

RS

tab

ESC !

ESC %

ESC &

ESC *

ESC <

ESC =

ESC ?

ESC @

RECR

ESCcO

ESCc3

ESCc4

ESCc5

ESCdn

ESCf

ESC o

ESCp

ESCt

ESC z

FS&

FS.

GSI

GSV

GSr

DLE EOT

DLE ENQ

DLE DC4




10

ASCII ASCII

Hex 16

Decimal 10
k

2 5 mm

LF

8 45mm



ASCI| LF
Hex OA
Decimal 10

FF

(1/9

ASCII  FF

Hex oC
Decimal 12
DIP SWr7 1

DIP SWr 1

CR

OF F (

ON (

. 1)

ASCII CR
Hex oD
Decima 13



RS

tab
ASCII RS
Hex 1E
Decimal 30
?
ESC!n
ASCII ESC I n
Hex 1B 21 n
Decimal 27 33 n
O£ n£ 255
n
Bit | Off /On Hex Decimal
0 Off 00 0
1 Off 00 0
2 Off 00 0
3 Off 00 0
4 Off 00 0
Off 00 0
> On 20 32
6 Off 00 0
Off 00 0
! On 80 128




ESC % n

ASCI| ESC % n
Hex 1B 25 n
Decimal 27 37 n
O0£n£ 255
n=0
LSB 0
LSB 1

ESC & yclc2[x1dl...d(yxx1)]...[xk d1...d(y x xKk)]

ASCII ESC & yclcZxldl...d(yxx1)]...[xk dl...d(y x xKk)]
Hex 1B 26 yclc2x1dl...d(y x x1)]...[xk d1...d(y x xk)]
Decimal 27 38 yclc2xldl...d(yxx1)]...[xk d1...d(y x xk)]
y=2
32£ C1£C2£ 126
OEXEQ
O£ dE 255
k=c2-cl+1
Y Bytes
" cl
- c2
© X Bytes
" d
d X X
(9 )
' 1 0
1. ESC?

ESC @



pls  pl7

M&E

- J LSB

| MSE

7X9 ( 2dot)
pl
¢ S W
- e ®| i#
I e | ®
I Tel 1 - 0
® A £ \ K]
o/eooieo| | /o]
o e { o
o | e o]
[ ] . ®
L
Pl
20H
ES & Y ¢l c2 X
C
Code 1B 26 02 20 20 07
1
ESCRnN

ESC*mnLnHdL ... dk

p3 P p7 p?  pll

1 [] [e | [
Lo} LB

® || L] |e
° o

| . ;

] =

|

oo ] feoc bl beod Lo

pd ph pd  pl0 pl2

pl p2 p3 d4 p5 p6 p7

1F 80 00 00 44 00 80
0

LSH

pl8

=

plb

p8 P9 pl0pll pl12pl3pl4d

00 44 00 20 00 1F 80

ASCII ESC *
Hex 1B
Decimal 27
m=16,17
O£nL £255
OE£ENHE3
O£d£ 255
k=(nL +nH x 256) x 2

2A m
42 m

dk
dk
dk

nL nH di...
nL nH di...
nL nH di...

m



nL nH m

m
16 |9 9 108 108 248 2
17 |9 9 216 216 495 1
m
nL nH (nL + nH x 256)
“d
k
1 0
nL nH
(m=17)
( )
Bitimage data
7 6 5 4 3 2 1 0 7 6 5 4 3 2 1 0
L 1 1 1 1T T 1T T 1 [CLTIT T T T T ¥V T 1]
TOP HEADlO—I
HEAD2O———
HEAD30O———
HEAD4O—m—————
HEAD5O:
HEADGO.
HEAD70.
HEADSO

Bottom HEAD9O

Print data




ESC <

ASCI| ESC <
Hex 1B 3C
Decimal 27 60

ESC =n
ASCI | ESC =
Hex 1B 3D
Decimal 27 61
1£EnE3
n=1
n
1
2
3
ESC ?n

ASCII ESC ?
Hex 1B 3F

Decimal 27 63
32£n£ 126



ESC @

ASCII ESC @

Hex 1B 40
Decimal 27 64
?
?
ESC R n

ASCI I ESC R n

Hex 1B 52 n

Decimal 27 82 n

OEn£13

n=0
n
N ASCII code (Hex)
2324|140 |5B |5C |5D |5E| 60
0 [USA #ls|l@| [ |\V]]1]~
1 |France #|l$|a|°|c| &8N é
2 |Germany # | $|8|A|O|0 |~ a U
3 |[UK. El$|l@ ([ [ \]]1]|" { }
4 |Denmark | #|s|@|E£||A | e a
5 |Sweden #| o |E|A|O|A|U| & a
6 |ltaly #l S| @ ° V| é| M| u e
7 |Spain | Pt|$|@| | N|¢|n }
8 |Japan #ls|@|[|¥|1 " }
9 [Norway #| o |E|E|@|A|U| e a
10{Denmark 11 #| S| E|E|@|A|]U]| ¢ a
11 |Spain 1| #|1$|al i |N|¢|e fi
12|LatinAmerica | # | $ | a| i [N | ¢ | é| 0 fi
13|Korea #l1$|@| [ |[W[] |"
ESCRnN ESC &



ESC ¢ 0 n

ASCII ESC c 0 n

Hex 1B 63 30 n
Decimal 27 99 48 n
1£nE£3,n=8
n = 3
n
Bit Off/On Hex Decimal
0 Off 00 0
On 01 1
L Off 00 0
On 02 2
2 Off 00 0
3 Off 00 0
On 08 8
4-7 Off 00 0
ESCf
ESC f
DLEENQ3
DLE ENQ 3
(n=3)
ESCc3n

ASCII ESC c 3 n

Hex 1B 63 33 n
Decimal 27 9 51 n
O£n£ 255

n=0



Bit

Off/On

Hex

Decimal

Off

00

On

01

Off

00

On

02

2-7

Off

00

O IN|[O |k

ESCc4n

ASCII
Hex

ESC
1B

Decimal 27

OE£nfE

n=0

255

c 4

n

63 34 n
99 52 n

Bit

Off/On

Hex

Decimal

Off

00

On

01

Off

00

On

02

2-7

Off

00

O|IN|O | |O




LED

ESCc5n
ASCII ESC c 5 n
Hex 1B 63 35 n
Decimal 27 99 53 n
O£ n£ 255
n=0
' /
n LSB 0 /
n LSB 1 /
n
/
ESCdn
n
ASCI| ESC d n
Hex 1B 64 n
Decimal 27 100 n
O£ n£ 255
n/ 6
“ESCd 30, “ESCd 20"
"ESC d 50”
ESCftlt2
ASCII ESC f tl t2
Hex 1B 66 tl1 t2
Decimal 27 102 t1 t2
O£ t1£15
O£ t2£64

t1=0,t2=10



T tl t1*1
) t1l 0
Tt 2 t2*0.1
ESC o
ASCII ESC 0
Hex 1B 6F
Decimal 27 m
ESCpmtlt2
(
ASCII ESC p m tl1 ¢t2
Hex 1B 70 m t1 t2
Decimal 27 112 m t1 t2
m=0,1, 48, 49
O£ t1£ 255
O£ t2£ 255
t1 12 m
M
0,48 pin 2.
1,49 pin 5.
' ON tIx2 ms OFF t2x2 ms
t2<t1 tIx2ms OFF




ESCtn

ASCII ESC t n

Hex 1B 74 n
Decimal 27 116 n
OE£n£5,16£Nn£19,254£n £ 255
n=0
n
n
0 PC437(U.SA.,Standard Europe)
1 Katakana
2 PC580(Multilingual)
3 PC860(Portuguese)
4 PC863(Canadian-French)
5 PC865(Nordic)
16 WPC1252
17 PC866(Cyrillic2)
18 PC852(L atin 2)
19 PC858(Eur o)
254 PC857(Latin 5)
255 Space page

ESC zn

ASCII ESC z n

Hex 1B 7A n
Decimal 27 122 n
O£ n£ 255
n=1( DIP 18 ON )
=0 n( DIP 18 OFF )
n LSB 0



RS

FS &
ASCI| FS &
Hex 1C 26
Decimal 28 38
DIP 1-8 ON ( )
DIP 1-8 OFF ( )
ESC @
Bigb 13053
FS.
FS.
ASCI I FS
Hex 1C 2E
Decimal 28 46
DIP 1-8 ON ( )
DIP 1-8 OFF ( )
ASCI| code
(1Byte)
ESC @

FS&



GS n

ID
ASCII GS
Hex 1D
Decimal 29

n

49 n
73 n
1£En£3,49£ENn£E£51,65£Nn£E£67,n=69

n ID
n ID
1,49 ID <2C>H
2,50 ID
3,51 ID .

(Example) <20>H
65 .
(Example)<5F>H,” 2.00” <00>H
66 <5F>," EPSON’ ,<00>H
67 <5F>" RP-U420" ,<00>H
69 <5F>" TAIWAN BIG5", <00>H
n=2:TypelD

Bit |Off/On |Hex |Decimal
0 On 01 |1 Two-byte
1 Off 00 |0

On 02 |2
2 Off 00 |0
3 Off 00 |0
4 Off 00 |0 Off.
5 Off 00 |0
6 Off 00 |0
7 Off 00 |0 Off.

1£n£3 49£ nE 51
65£ nft 67 n=69
(1) [Header] <5F>H




(2)

[Printer Information]

(3) [Terminator] <O00>H
( 1@SVm
( 2GSV mn
(1) ASCII GS V. m
Hex 1D 5 m
Decimal 29 86 m
(2 ASCII  GS V. m n
Hex 1D 5% m n
Decimal 29 86 m n
(1) O£ mE2, 48£ m£ 50
(2) 65£ m £ 67
0 £n£ 255
DIP 1-7 OFF( ),
m Printer o@Qp&Moatei
0,48, 1,49 ( ) ( )
2,50 ( ) ( ) -
65, 66 ((8+n)x4.R23mm),
( ) ( )
67 ((8+n)x4./23mm),
( ) (( )




DIP 1-7 ON(

n/ 6
m
0,48,1,49
2,50
65, 66 ((10+n)x4.23mm)
67 ((10+n)x4.23mm))
1
( ESCcO )
2 n
(8x4.23) mm
(10x 4.23) mm
30
GSrn
ASCII GS r n
Hex 1D 72
Decimal 29 114
n=1, 2,49, 50
n
n
1,49

2,50




n=1,49

Bit |Off/On|Hex |Decimal
0 Off 00 0
On 01 1
Off 00 0
On 02 2
2,3 |Off 00 0
4 Off 00 0
5 Off 00 0
On 20 32
6 Off 00 0
7 Off 00
n = 2, 50
Bit Off/On |Hex |Decimal
0 Off 00 0
On 01 1
1,2,3 |Off 00 0
4 Off 00 0
5,6 Off 00 0
7 Off 00 0
DLE EOT n
ASCII DLE EOT n
Hex 10 04 n
Decimal 16 4 n
1£n£4,6
n
n=1
n=2
n=3
n=4
n=6




n=1

Bit |Off/On[Hex |Decimal
0 Off 00 0 of f .
1 On 02 2 On.
2 Off 00 0 3)
On 04 4 3) .
3 Off 00 0
On 08 8
4 On 10 16 On.
5 Off 00 of f .
6 Off 00
On 40 64
7 Off 00 0 of f .
Bit 6 ESCc5 bit 6
"on”
n=2
Bit |Off/On[Hex |Decimal
0 Off 00 0 of f .
1 On 02 2 On.
Off 00 0
On 04 4
3 Off 00 0
On 08 8
4 On 10 16 On
5 Off 00 0
On 20 32
6 Off 00 0
On 40 64
7 Off 00 0 of f




Bit 2

Bit 7

n=3

Bit |Off/On[Hex |Decimal
0 |Off |00 0 of f .
1 |On 02 2 On
Ooff |00 0
On 04 4
3 |Off |00 0
On 08 8
4 |On 10 16 ON
5 |Of 00 0
On 20 32
6 |Off |00 0
On |40 64
7 Off |00 0 (Make Sensor)
On 80 128 (Make Sensor)
(Home Position Sensor)
"o
7
n=4
Bit |Off/On[Hex |Decimal
0 |Off |00 0 of f .
1 On 02 2 On
2 Off |00 0
On 04 4
3 |Off |00 0
On 08 8
On 10 16 ON
5 |Off |00 0
On 20 32
6 |Off |00 0
On |40 64
7 Ooff |00 0 of f




n=6

Bit |Off/On[Hex |Decimal
0 Off 00 0 of .
On 02 2 On
Off 00 0
On 04 4
3 Off 00 0
On 08 8
4 On 10 16 On
5 Off 00 0
On 20 32
6 Off 00 0 of f
7 Off 00 0 Df

<10>H <04>H <n> (1£En£4 6)

In ESC * m nL nH d1...dk, d1=<10>H, d2=<04>H, d3=<01>H

2 Bytes
ESC3n n DTR(DSR )
MARK n DLE EOT 3 (interrupt)
DLE EOT 3 <10>H ESC3 <10>H
ESC= ( )

DIP 16 ON

DLEENQ GSr

DLE ENQ n

ASCII  DLE ENQ n



Hex 10 05 n

Decimal 16 5 n
1£En£E3

> 5 S
1
W N P

<10>H<05>H<n>(1£ n£ 3)

ESC mnL nH dl1...dk , d1=<10>H, d2=<05>H, d3=<1>

ESCRnN n DLEENQ 3
DLEENQ3 <10>H ESCR <10>H
DLEENQ 1
DLEENQ 2
ESC!, EXCR
DLEENQ2 ESC@
DLEENQ 2
OLE ENQ 3
DLEENQ3
ESC= ( ) DLE ENQ
1 DLEENQ2Z2
DLEDC4nmt
ASCII DLE DC4 n m t
Hex 10 14 n m t

Decimal 16 20 n m t



n=1

O£EmE1l
1£t£8
n m
M
0 pin 2.
1 pin 5.
' ON txX100 ms OFF tx100 ms
ESC =
ESCp
DC4)
ESCp
DC4)

ESCp

DLE

DLE



